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A client device which is trying to transmit over a wireless network monitors the network for another transmission in progress. If it detects another transmission in progress, the client will wait for a random amount of time before checking again. If no transmission in progress is detected, the client will send a RTS (request to send) signal. This is done because, due to the hidden node problem, another device may be transmitting on the wireless network even if it is not detected by the client and therefore two clients could start transmitting simultaneously. The WAP (wireless access point) responds to the RTS signal with a CTS (clear to send) signal. When a CTS signal is received, the client begins transmitting the data it is trying to send. After all the data is received by the access point, the access point sends an ACK (acknowledgment) signal to the client which confirms to the client that the access point received the data and it was not corrupted. If no ACK is received by the client, then the client waits a random amount of time until reattempting the transmission. The ACK signal can also be used by other clients to know that they can transmit again.
